. Multiple choice questions (MCQs).
Choose the correct answer from the given options :
| Indiais the S eventh

—_largest country in the world.

(a) second (b) fourth _{e¥seventh (d) sixth
2. India has 28 states.
(a) 20 Ab) 28 (c) 29 (d) 17
3. Which of the following is the capital of Meghalaya ?
(a) Ranchi (b) Gangtok (c) Jaipur )y Shillong
4. Kavaratti is the capital of :
(a) Kerala (b) Andaman  (c) Puducherry (#T.akshadweep
5. Which of the following pairs is wrong ?
(a) West Bengal — Kolkata (b) Daman and Diu — Daman

1) Tripura — Kohima (d) Sikkim — Gangtok



D. Fill in the blanks with the help of the words given in the help box.
Punjab New Delhi Chandigarh Haryana Seven sisters
1./ L é uu

1s the capital of India.

d" 9 "“i'? hh is a union territory and the capital of PU«"W_ ~and
wu_l?ana .

3. The north-eastern states of India are known as the 5 Cven W
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